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There were two people observing him from this window and two
from this other window, etc.

OVERVIEW

The mwn state if the 27V saw the act from two different windows, it depends; if the
7Y can see each other, it is considered as one set of 0°7v; however if they cannot
see each other, it is considered as two separate m7v. Our NMBOIN confirms the
correct X072 in the 7w,
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The text in our 7w does not read; ‘one in this window, etc. (and one in the other
window)’, but rather two from this window and two from this window.

SUMMARY
The correct X07°3 (in our mIwn) is 77 PNoAR DI 77 11200 DIV,

THINKING IT OVER
Why does n1voIn find it necessary to point out the correct X07°3; why would we
have thought otherwise?!”

"In the following X3 we find &°210 72 X707 27 discussing a case of 71 1217 'R 71 oA AR K.

% Others amend this to read 121 (instead of 179m2)

? The 73wn cannot be discussing a case of one observing from one window and the other from another window, for
how can the 11wn conclude; ‘if they cannot see each other they are considered as two sets of 0>7y’, since there is only
one 7Y in each set, it is not an M7y at all.

* See footnotes # 1 & 3.
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